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QUESTION 1

The creator of an index or an index specification automatically receives which privilege on the index?
A. SELECT

B. DELETE

C. UPDATE

D. CONTROL

Correct Answer: D

QUESTION 2

With HADR, which of the following configuration and topology choices provides the highest level of protection from
potential loss of data in a pureScale environment?

A. Principal standby with SYNC synchronization mode

B. Auxiliary standby with SYNC synchronization mode

C. Principal standby with NEARSYNC synchronization mode

D. Auxiliary standby with SUPERSYNC synchronization mode

Correct Answer: A

Standby databases are synchronized with the primary database through log data that is generated on the primary and
shipped to the standbys. The standbys constantly roll forward through the logs. You can choose from four different

synchronization modes. In order of most to least protection, these are SYNC, NEARSYNC, ASYNC, and
SUPERASYNC.

QUESTION 3

Which of the following editions of DB2 include support for Federation with Oracle database?
A. DB2 Express-C

B. DB2 Developer Edition

C. DB2 Enterprise Server Edition

D. DB2 Workgroup Server Edition

Correct Answer: C

QUESTION 4
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Which operation typically requires a Share (S) lock?
A. INSERT
B. SELECT
C. DELETE
D. UPDATE

Correct Answer: D

QUESTION 5

How can you tell what privileges on a table or view have been granted to a user? (Choose two.)
A. db2look with the -x option

B. db2pd with the -auth option

C. Query the SYSCAT.DBAUTH view

D. Query the SYSCAT.TABLES view

E. Query the SYSCAT.TABAUTH view

Correct Answer: CE
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